Date:
Divide.
18p*-12p° +6p
9 6
p
8b' - 28b°
© ————
4b
25x* + 25x*+ 45x
9 5
Q -12n'*+ 36n'°+ 84n®- 72n*
12n?
18y° + 15y°
Q ———

(Dividing by Monomialsj

3y

(2

50b' - 40b° + 30b®

10b?

16t% + 40t’ - 48t*

8t’

84q’ - 42q°

-21q°

154m°
14m°®

84q’ - 429°

-21q°



(Dividing by Monomialsj

Date:.
18p*-12p° +6p
o 6
p
3p°-2p+1
8b' - 28b°
e 4b5
2b’-7b
25x* + 25x%*+ 45x
Q 5
5x* + 4x% + 9x
Q -12n"*+ 36n"°+ 84n®- 72n*
12n?
-n" + 3n®+ 7n®- 6n?
o 18y° + 15y°
3y’
6)/4 + 5y

Answers

(2

50b' - 40b° + 30b®

10b?

5b'"- 4b” + 3b°

16t% + 40t’ - 48t*

8t’

2t + 5t* - 6t

84q’ - 42q°

-21q°

-49° + 29°

154m°
14m°®

TTm

84q’ - 429°

-21q°

_4q3 g 2q2



